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1. (a) “Wealth maximization is a better criterion than profit maximization.” Do you
agree ? Explain.

(b) ABC Ltd. has the following capital structure :
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Particulars Amount (Rs.)
Equity share capital (1,60,000 shares of Rs. 100 each) 1,60,00,000
12% Preference Shares - 16,00,000
10% Debentures o 24,00,000

The equity shares of the company are quoted at Rs. 110 and the company
is expected to declare a dividend of Rs. 15 per share. Rate of growth of
dividend is 8%, which is expected to be maintained.

(i) Assuming the tax rate of 40%, calculate WACC using book value
weights.

(i) The company wants to raise the additional term loan of Rs. 20,00,000
at 10%. Calculate the revised WACC assuming the market price of
equity shares has gone down to Rs. 105. (5+10=15)

OR

(a) “Financial Management is concerned with the solutions of three major decisions

a firm must make.” Explain this statement highlighting the inter-relationship
amongst these decisions.

(b) XYZ Ltd, has the following book value capital structure

(Rs. crore)
Equity Capital (Rs. 10 each) 15
12% Preference Capital (Rs. 100 each) 1
Retained Earnings 20
11.5% Debentures (Rs. 100 each) 10
11% Term Loan 12.5
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The next expected divided on equity shares is Rs. 3.60 per share, the dividend

per share is expected to grow at 7%. The market price per share is Rs. 40.

Preference stock, redeemable after 10 years, is currently selling at Rs. 75
per share. Debentures, redeemable after 6 years, are selling at Rs. 80 per

debenture. The-income tax rate for the company is 40%.

Calculate the weighted average cost of capital be using (i) Book value weights

(i1) Market value weights. .(5+10=15)
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2. ACLtd. has just installed Machine X at a cost of Rs. 4,00,000 having a useful
life of 5 years with no residual value. The annual production is estimated at
1,50,000 units which can be sold at Rs. 12 per unit. Annual operating costs are
estimated at Rs. 4,00,000 (excluding depreciation) at this output level. Fixed

costs are estimated at Rs. 6 per unit (excluding depreciation) for the same level
of output.
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The company has just come across another machine Y having same useful life and
capable of giving same output. Annual operating cost is expected at Rs. 3,60,000
(excluding depreciation). There will be no change in fixed cost. Capital cost of

thé machine is Rs. 5,00,000 with nil residual value.

THe ¢company can sell the machine X at Rs. 1,00,000 but the cost of dismantling
and removal will amount to Rs. 30,000. The operations with Machine X have
not yet started and the company wants to sell Machine X and purchase Machine
Y.

AC Ltd provides depreciation under straight line method. Assume corporate tax

at 40%. The cost of capital may be assumed at 14%.

(a) Advise whether the company should opt for replacement.

(b) Will there be any change in your view if Machine X has not been installed

but the company has to select any one of the two machines. (15)
OR

RS Ltd. wants to replace its labour intensive manufacturing facility. The company
is evaluating a project to install a machining system. It is estimated that system
will result in annual saving of Rs. 4,50,000 in wages, Rs. 1,50,000 in supervisory
cost, Rs. 50,000 in material losses during production, Rs. 40,000 in-inventory

cost and Rs. 30,000 in other operating costs.

The machining system is likely to cost Rs. 7,50,000 and will require an installation
cost of Rs. 50,000. Its useful life is estimated at 5 years. To operate the system,
the company requires the services of two trained operators at an annual salary
of Rs. 1,50,000 each. Its annual repairs and maintenance cost is likely to
Rs. 40,000. Assuming corporaté and capital gains tax rate uniformly at 35% and

the required rate of return at 12%, it is required to calculate :
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(i) The relevant cash flows of the machining system
(i) Payback period
(i) NPV

(iv) The relevant cash flows, payback and NPV assuming the machining system
can be sold for Rs. 50,000 at the end of 5 years when its book value is

supposed to be zero.

(v) The relevant cash flows, payback and NPV assuming that the depreciated
book value of the system upon termination at the end of fifth year will stand
at Rs. 50,000. However, it will not fetch anything i.e. its sales value will be
Zero. (15)
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3. (a) What are similarities and dissimilarities between NPV and IRR ? Which of
the two methods will you prefer when they give different ranking of investment

of proposals ? Why ?

(b) A textile company belongs to a risk class for which the appropriate P/E ratio
is 10. It currently has 50,000 outstanding shares. sélling at Rs. 100 each. The
firm is contemplating the declaration of Rs. 8 dividend at the end of the
current fiscal year which has just started. Given the assumptions of MM,

answer the following questions :

(1) What will be the price of the share at the end of the year (i) if dividend

is not declared (ii) if divided is declared.

(2) Assuming that the firm pays the dividend, has a net income of
Rs. 5,00,000 and makes new investments of Rs. 10,00,000 during the

period, how many new shares must be issued.

(3) What will be the value of the firm (i) if dividend is declared (ii) if
dividend is not declared. (5+10=15)

OR

(@) Define cash flows. How is it different from profit ? Explain the superiority of

cash flows in investment decision making.

(b) The following information is supplied to you, about LK Ltd. :

Earnings of the company Rs. 15,00,000
Dividends paid Rs. 5,00,000
Number of issued shares 1,00,000
Price earnings ratio 10

Rate of return on investment (%) 15
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(i) Determine the theoretical market price of the share as per Walter’s
Model.

(ii) Are you satisfied with the current dividend policy of the firm ? If
not, what should be the optimal dividend payout ratio in this
case ? Find out the price of the share at that dividend payout

ratio. (5+10=15)
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4. (a) How does Gordon’s Model differ from Walter’s Approach to relevance of

dividends ? What are their similarities ?

(b) The cost sheet of PQR Ltd. provides the following data :

Cost per unit

Raw material Rs. 50
Direct Labour 20
Overheads (including depreciation of Rs. 10) 40
Total costs 110
Profits 20
Selling price 130
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Average raw material in stock is for one month. Average material in work-
in-progress is for half month. Credit allowed by suppliers: one month; credit
allowed to debtors: one month. Average time lag in payment of wages is 10

days; Average time lag in payment of overheads is 30 days. 25% of sales are

_on cash basis. Cash balance is expected to be Rs. 1,00,000. Finished goods

+ lie in the warehouse for one month.

(a)

(b)

You are required to prepare a statement of the working capital needed to
finance a level of the activity of 54,000 units of output. Production is carried
on evenly throughout the year and wages and overheads accrue similarly.

State your assumptions, if any, clearly. (5+10=15)

OR

Explain stable dividend policy. What is the significance of stability of

dividends ?

X Ltd. currently makes all sales on credit and offers no cash discount. It is
considering a 2% cash discount for payment within 10 days. The firm’s
current average collection period is 60 days, sales are 2,00,000 units, selling
price is Rs. 30 per unit, variable cost per unit is Rs. 20 and average cost per

unit is Rs. 25 at the current sales volume.

It is expected that the change in credit terms will result in increase in
sales to 2,25,000 units and the average collection period will fall to 45
days. However, due to increased sales, increased working capital
required will be Rs. 1,00,000. (It does not take into account the effect on
debtors). Assuming that 50% of the total sales will be on cash discount and
20% is the required return on investment, should the proposed discount be
offered ? , (5+10=15)
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What are the factors affecting the cash needs of a firm ?

The capital structure of Z Ltd. consists of 35,000 equity shares of Rs. 100
each. The authorized capital of the company is 60,000 shares. For the financial

year ended 31.3.2016, particulars of production, cost and sales are as

follows :
Units produced and sold (@ 80% level of activity) 50,000
Selling price per unit Rs. 20
Variable cost per unit Rs. 10
Fixed operating cost per unit Rs. 4

In view of emerging opportunities arising out of globalization, Z Ltd. decided
to utilize full capacity to meet the additional demand for its product. This
would however involve an additional capital of Rs. 15,00,000. As a result
of utilisation of full capacity, variable cost will be reduced by 10% but fixed
cost will go up by 10%. The additional output can be sold at the existing

PT.O.
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selling price. The possible alternative sources of finance for the required

additional capital would be
(1) entirely by equity shares of Rs. 100 each
(ii) entirely by 6% bonds of Rs. 500 each or
(i) 50% by equity capital and 50% by 6% bonds of Rs. 500 each.

Assuming a corporate tax of 40%, which of the alternative financing scheme

do you recommend ? Also, calculate all the leverages and comment.

(5+10=15)
OR -
(a) Explain the factors having a bearing on working capital needs.
(b) The existing capital structure of RST Ltd. is as follows :
Particulars Amount (Rs. lacs)
Equity shares (Rs. 100 each) 40
Retained Earnings 10
9% Preference shares 25
7% Debentures 25
Total 100

Company earns a return of 12% and the tax on income is 40%. Company
wants to raise Rs. 25,00,000 for its expansion project for which it is

considering following alternatives :

(1) Issue of 20,000 equity shares at a premium of Rs. 25 per share
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(i) Issue of sufficient number of 10% preference shares
(iii) Issue of sufficient number of 9% Debentures

Projected P/E ratios in the case of equity, preference and debenture financing
are 20, 17 and 16 respectively. Which alternative will you consider to be the

best ? Give reasons for your choice. (5+10=15)
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